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‘ each sentence. Then mark the correct choice on your answer sheet.

What was intended as a peaceful demonstration rapidly
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| PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes

into violence.

1) agitated 2) degenerated 3) preceded 4) discriminated
The Democratic Party ---------- 70 percent of the vote.

1) garnered 2) esteemed 3) obligated 4) assembled
Some animals can -—-----— very high temperatures.

1) detach 2) submit 3) obstruct 4) withstand

Researchers have discovered that up to one half of all children born of alcoholics are
genetically —---——- to alcoholism.

1) discerned 2) apprehended 3) predisposed 4) impressed
Communication via the Internet gives an important to international trade.
1) dimension 2) exposure 3) expenditure 4) distribution
Lack of childcare facilities can be a major for women wishing to work.

1) dispute 2) routine 3) obstacle 4) contraction
It is a common -------- -- that women are worse drivers than men.

1) essence 2) impetus 3) fallacy 4) amusement
The -----—-- for using this teaching method is to encourage student confidence,

1} advent 2) rationale 3) authenticity 4) constitution
The degree of punishment should be to the seriousness of the crime.

1) inclined 2) receptive 3) prominent 4) proportional
Low inflation is the key to --------— economic growth.

1} sustained 2) congruous 3) extravagant 4) well-disposed

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or

11-
12-

13-
14-
15-

(4) best fits each space. Then mark the correct choice on your answer sheet.

Commonwealth of Nations is an international organization composed of independent states,
all of which were part of the British Empire. It was constituted by the Statute of Westminster,
(11) ==mmmmmmee the British Dominions were recognized as ‘autonomous communities’, (12} ===----
the British Crown. Since 1947, when India chose (13) --—--—--- within the Commonwealth, it
has consisted of an increasing number of republics, so that the role of the British monarch, who
is the head of only seventeen (14) ---------- a total of fifty-three member states, is confined
(15) -==------- head of the Commonwealth. Given that its member states have little in common
apart from a historical tie to'the UK, it has rarely been able to influence world affairs, except
perhaps for its leadership on the international imposition of sanctions upon South Africa.

1) so 2) which 3) so that 4) in which

1) binding together 2) bound together by

3) together having bound 4) having bound together

1) to remain 2) remaining 3) for remaining 4) to be remained
1) by 2) out'of 3y within 4) outside

1) for 2) to who is 3) to that of 4) that she is

MMQNU’)QM)'W“)UQ‘GW‘S)b'uQPT
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Directions: Read the following two passages and choose the best choice (1), (2), (3) or
|(4). Then mark it on your answer sheet.

PASSAGEL:

Matural hazards including droughts, earthquakes, volcanoes, storms,
hurricanes, diseases, and pests all prevent economic development. Large

natural disasters can set countries back greatly in their economic development, as in
periodic flooding of Bangladesh. Volcanoes and floods can often have both positive
and negative effects as they bring in fertile sediment. Areas around volcanoes and
flooding deltas are often heavily populated, as in Egypt, Bangladesh and Indonesia.
Diseases such as malaria which thrive in tropical climates and AIDS which is
endemic in Africa prevent people from working and create an economic !:nurd:n on
society. Pests such as locusts reduce agricultural output and make it more difficult for
a country to earn sufficient money to escape from subsistence agriculture. Reliable
sources of water are necessary for productive agriculture and to a lesser extent
industry. Human induced environmental problems include desertification, salinity,
water pollution, land clearing and many more. Desertification is caused by poor ]a_nd
management removing the nutrients necessary for plant growth. It is a worldwide
problem with massive consequences for the countries it affects. Salinity is caused by
poor irrigation techniques. Water pollution from industry can include acids and bases,
poisonous minerals and material with a high biochemical oxygen demand (EDD}
which cause algal blooms. This pollution makes it more difficult for a population to
access fresh water. Logging initially brings in investment but often land with trees
removed is of far reduced agricultural value and is vulnerable to desertification.
Logged rain forests are especially vulnerable to mineral leeching due to high rainfall
and often become worthless. As tourism is now a major source of income for most
LEDCs it is necessary to care for natural resources which can bring in this long-term
source of wealth.

What does the passage mainly discuss?

1) Natural Hazards 2) Economic Development

3) Environmental Geography 4) Reliable Natural Resources

Which is NOT mentioned among the natural threats that prevent economic development?
1} aridity 2) flooding 3) illness 4) tornado

According teo the passage, periodic flooding —————-,

1) brings in fertile sediment 2) sets countries often heavily populated

3) often has positive and negative impacts 4) prevents economic development greatly
Diseases such as malaria which --——-—- in tropical climates and AIDS which is -----eene-
in Africa prevent people from working and create an economic burden on society.

1) develop — found 2) advance — epidemic

3) flourish — prevalent 4) succeed — pandemic

If what the author says is true, them desertification ——-—-—— is caused by poor land
management.

1} essential for industry 2) created by human beings

3) removing the necessary nutrients 4) necessary for productive agriculture

What does “it” in line 14 refer to?

1) salinity 2) water pollution 3) desertification 4) land management
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Which of the following causes algal growth?
1) acids and bases 2) poisonous minerals

3) material with a high BOD 4) all that polluted water from industry contains

What does the author say about cutting down trees for their wood?

1) It paves the way for anti-desertification.

2) It gives rise to investment at the beginning .

3) Land with trees removed is accessible to cultivation .

4) Land with trees removed is of great value to agriculture .

What will happen if water is polluted?

1) Fresh water will produce algal blooms.

2) Land will not be vulnerable to desertification.

3) Fresh water will not be available to people.

4) Land will be of far reduced agricultural value.

What does the author try to state in the last two sentences?

1) Desertification reduces tourism as a major source of income.

2) Natural resources are necessary for economic development.

3) Logging increases investment and investment increases tourism in its turn.
4) Tourism is a major source of income as well as a long-term source of wealth.

PASSAGE 2:

Man first began to acquire knowledge of the waves and currents of the seas and
oceans in pre-historic times. Observations on tides are recorded by Aristotle and
Strabo. Early modern exploration of the oceans was primarily for cartography and
mainly limited to its surfaces and of the creatures that fishermen brought up in nets,
though depth soundings by lead line were taken. But when Louis Antoine de
Bougainville, who voyaged between 1766 and 1769, and James Cook, who voyaged
from 1768 to 1779, carried out their explorations in the South Pacific, information on
the oceans themselves formed part of the reports.

James Rennell wrote the first scientific textbooks about currents in the Atlantic and
Indian oceans during the late 18th and at the beginning of 19th century. Sir James
Clark Ross took the first modern sounding in deep sea in 1840, and Charles Darwin
published a paper on reefs and the formation of atolls as a result of the second voyage
of HMS Beagle in 1831-6. Fitzroy published a report in four volumes of the three

voyages of the Beagle.

The steep slope beyond the continental shelves was not discovered until 1849.
Matthew Fontaine Maury's Physical Geography of the Sea, 1855 was the first
textbook of oceanography. The first successful laying of transatlantic telegraph cable
in August 1858 confirmed the presence of an underwater "telegraphic plateau” mid-
ocean ridge.

After the middle of the 19th century, scientific societies were processing a flood of
new terrestrial botanical and zoological information.

According to the passage, first modern exploration of the oceans was —-—-—--—--
1) mainly focused on making maps

2) primarily limited to their depths

3) primarily limited to identifying fishermen

4) mainly focused on exploring their creatures
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What does ‘voyage’ in the first paragraph refer to?

1) short trip 2) long journey

3) exploring new territories 4) visiting different places

If the author is right, them James wrote the first scientific textbooks about
in the Atlantic and Indian oceans during the late 8" century.

1) atolls 2) drafts 3) drifts 4) reefs

When was the first textbook of oceanography written?

1) When the first successful telegraph cable was laid

2) When the steep slope was discovered

3) In 1855

4) In 1849

What was happening in the second half of the 19th century?

1) Certain countries were dealing with a large number of animal and plant life.

2) Certain societies were producing a lot of information on zoological life in oceans.

3) Certain countries were handling a large amount of botanical and zoological information

in seas.

4) Certain societies were processing a large amount of new information about animals and
plants.
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